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Question Number : 1 Question Id : 9277594422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Volt : Voltmeter :: Resistance : ?
Options :

1. * Ammeter

2. * Thermometer

3. * Hygrometer

4. ¥ Ohmmeter



Question Number : 1 Question Id : 9277594422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAHed BT 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo JR ¥ 3R UG Ugd Ug ¥ Hafed g

dice : dlecHieR :: UfaRIY : 2
Options :

1. % 3R

2. % qIgHTA

3. % STETAT!

4. ¢ AT

Question Number : 2 Question Id : 9277594423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ®* BDG
2. ¥ KMQ
3. % SUX
4. % HIM

Question Number : 2 Question Id : 9277594423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawed & 9 & T [y e o 90 § | 8Tald, Th [Awed 31 119 &1 dve ol ¢ | 34 [dded &1 T8 B Sl 37 I 3T 5|
Options :

1. = BDG

2. ¥ KMQ

3. % SUX

4, % HIM



Question Number : 3 Question Id : 9277594424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % 12:1727
2. % 14:2743
3. % 16:4095
4.+ 18 :5833

Question Number : 3 Question Id : 9277594424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fRiwedl A @ & e Rfyd % T TuH 81 gTlTe, T faeed 3/ diF ot aRE Tl ¢ | 39 A et o1 I &Y oY 30 ¥ 3T B
Options :

1. % 12:1727

2. % 14:2743

3. % 16:4095

4. ¥ 18 :5833

Question Number : 4 Question Id : 9277594425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series:

BC, DFH, GIMP, KOSWA, PUZEJO, _
Options :

1. ¥ VBHNTZF

2. % BNHTZFV

3. ¥ FZTNHBV

4. % HBVNFZT



Question Number : 4 Question Id : 9277594425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad aR e o Q1

BC, DFH, GIMP, KOSWA, PUZEJO,
Options :

1. ¥ VBHNTZF

2. % BNHTZFV

3. % FZTNHBV

4. % HBVNFZT

Question Number : 5 Question Id : 9277594426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the given series.

4000, 3900, 3800, 3300, 2500, 900
Options :
1. % 2500
2. % 3900
3. % 4000
4. % 3800

Question Number : 5 Question Id : 9277594426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FRIEEICHIR RIGGR RIS 2

4000, 3900, 3800, 3300, 2500, 900
Options :
1. %® 2500




2. #3900
3. ¥ 4000
4. % 3800

Question Number : 6 Question Id : 9277594427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statement:
U=P>R=T>F;A<C<F
Conclusions:

I.LP>C

II.C=P

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Either conclusion I or II follow

4. % Both conclusion I and II follow

Question Number : 6 Question Id : 9277594427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § U Sy fear mar 8, g a1 gl fAsw e [ 3R 11 fau U § 1 3mueh! 39 HUA &) I AT 8, YA 81 I8 ITHId: J1d a2 3 i
Tdid 81 et T fofg &+ B fop faw e fse st 7 @ & 1, afe 1S 8,  f3T U Sy § | 3 wRur ST 3

HY:
U=P>R=T>=F,A<C<F
Ty

.LP>C

I.C=P

Options :

1. % $Had FT5HY [ 3FIERU Sl §



2. % Had (DY I1 SR Hal §
3. AT Al Fpe 1 37 11 SR Rl §
4. % 5By [ 3R 11 QT SITERUT Rd §

Question Number : 7 Question Id : 9277594428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are six persons A, B, C, D, E, F who have different weights. Only two persons have less weight than E. C has less weight than B but more
than A. B has a weight less than only two persons. D has less weight than F.
Who has the highest weight?

Options :
1.* B
2.%D
3.¥F
4. % C

Question Number : 7 Question Id : 9277594428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B AT A, B, C, D, E, F § [SHHI YR -3 § | Had ol Afadl HIYREJFA G| C HTUR B I HH ¢ Afch A T 31& 51 B T
YR $9d ¢l fdad ¥ HH G| D BT HR F I HH § | I 1T HR fhahT 87

Options :

1. % B

2. %D

3.¥F

4. % C

Question Number : 8 Question Id : 9277594429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most logical course of action for the following scenario.

Ram was very good at basketball but still, he was not selected for the college basketball team. He would




Options :

1. # Form a union with his friends and start agitation at the college.
2. # Complain to the higher authority for not selecting him.

3. % Start begging for his selection.

4. ¥ try to find out the reason and remove the weakness and practice more to get selected in the next trial.

Question Number : 8 Question Id : 9277594429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed uRkesd & T PRaTs &1 Yo dlihe UTedhH I
W IR H ggd w1 U dfd {1, 39 weifaeery sRevcdld &Y o fore =1g -1 7 1| 98

Options :

1. % 30 GGl & 1Y U T AL 3R HeTaarad H sfiiad = Bl

2. % YA T8I B R IANYBRI H fRIbrId B

3. % 310 98- & o Yikg T L= |

4.+ HROT BT Udl A BT TIRT BT AR HHASIRT P gX B 3R ST TIE0 H TG+ g & 74 ST g H|

Question Number : 9 Question Id : 9277594430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most logical course of action for the following scenario.

You love a girl but your father has rejected the marriage proposal and want you to marry the daughter of his close friend whom he has promised.
You will

Options :

1. # Accept your father's decision and marry the daughter of his friend.
2. ¥ Convince your father about your girlfriend.

3. ¥ Revolt against your father.

4. % Refuse to marry for lifetime.

Question Number : 9 Question Id : 9277594430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFafefad uRezy & T HRaT 1 9ad difhed UTedsHH g

3T T TSH! § WR Hd g Afdp 3P forar = |dq|s$u¢d|qﬁ3ﬂq|w P faar g 3R T84 § fob 3y 370 el fird bt 9T J et
&3, R 3817 arar fam | ey

Options :

1. % 370 T & Hhad &l WHR Sl 3R 3% 07 &1 It ¥ faare S|
2.« 30 fUdT &1 U=t UflehT o 9 H qHema |

3. % 304 fUd1 & Raarw fagie & |

4. % Sfla WX & foTu f9a18 oA ¥ SR BT |

Question Number : 10 Question Id : 9277594431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the given series:

677,782,903,1020,  , 1290
Options :
1. # 1151
2. % 1171
3. % 1181
4. ¥ 1161

Question Number : 10 Question Id : 9277594431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 TS I H qud e I B
677,782,903, 1020, 1290

Options :
1. % 1151
2. % 1171
3. % 1181




4. ¥ 1161

Question Number : 11 Question Id : 9277594432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following information carefully to answer the given question:

$PIHYQ41ZOXHIA@3OWSEK

If all the numbers and symbols are dropped from above arrangement, which of the following will be eighth element from the left end?
Options :

1. # X

2.¥ H

3.0

4. % A

Question Number : 11 Question Id : 9277594432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T U Uy BT IR o & o FafaRad SHeR! &1 eFydd 3eaa- He:

$PIHYQ41ZOXHIA@3OWSEK

gfe IR TawyT ¥ g+t Tl 3iR fogl &1 get faar sme, ot fFufefead & § &9 91 9 8R4 siadr uferde g
Options :

1. = X

2. ¢ H

3. %0

4. % A

Question Number : 12 Question Id : 9277594433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If 2 is added to each even digit and 1 is subtracted from each odd digit in the number 96235741, then what is the product of digits which is 5th
and 3rd from left and right respectively?

Options :
1. %10
2. %2
3.9 24
4, % 8

Question Number : 12 Question Id : 9277594433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gfe T=AT 96235741 H UdD TH 3fh | 2 SIST ST & 3R TS favH 36 A 1 e SITdT §, dl 918 3R a4 J HHT: 59 3R 33 3 BT
U 1 B2

Options :
1. % 10
2.% 2
3.9 24
4, % 8

Question Number : 13 Question Id : 9277594434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following statements and answer the question on their basis.

'A + B' means 'A is mother of B'.
'A - B' means 'A is husband of B'.
'A & B' means 'A is brother of B'.

How is U related to T in the expression T+ R— M + U & S?
Options :

1. ¥ Paternal grandson

2. % Paternal granddaughter

3. # son



4. # daughter

Question Number : 13 Question Id : 9277594434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Sl & U 3R 9P MMUR TR UY BT IR <

'A+B BTIST'A, BHI AT
'A-BHTIIG A BHTURTI
'A&B BT HIE'A, BHTHES '

NIRRT T+R —M+U & SHU, TH HY Tafdd g2
Options :
1.« U
2. % U

3. % gx
4. % T

Question Number : 14 Question Id : 9277594435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six person A, B, C, D, E, and F are sitting in a linear row facing north direction but not necessarily in the same order. Two persons sit between D
and E and both are not sitting at any of end. The number of persons sitting to the left of C is equal to the number of persons sitting right of F who
sits immediate left of E. Who sits immediate right of D?

Options :
1.¥ C
2. % F
3. % E
4. % B

Question Number : 14 Question Id : 9277594435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



JE MG A, B, C, D, E 3R F T IRAP I H IR [G=M BT 3R & b 98 & qfch ISP Tl sl hH A S 81 D AREF AH &
fed 96 g 3R e it i SR W 78 96 81 ¢ F 91U 9 Afdddl &1 TS, F & ST 9 Afaddl o T-AT b SRISR @ Sl E b 31p a4 #
93181 D & 3l oI H B 9371 82

Options :

1.¥ C

2. % F

3. % E

4. % B

Question Number : 15 Question Id : 9277594436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The multiplication of Ram’s age before 2 years and after 8 years is 600. Find his present age.
Options :

1. * 28 years

2. ¥ 22 years

3. % 20 years

4. % 30 years

Question Number : 15 Question Id : 9277594436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 I8 Ugd 3MR 8 af ST IH Pt 3T BT UM 600 B | IYD! T 31T 1 B |
Options :

1. % 289y

2.¢ 22Ty

3. % 2079

4.% 30T

Question Number : 16 Question Id : 9277594437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :

1. #® Image A

2. # Image B

3. # Image C



4. ¥ Image D

Question Number : 16 Question Id : 9277594437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS IR 3T H A, I 3P Tal T Ig B oG Uy 3pfal fdafzRd g

Options :

1. % BTA



2. % BAB

3. % BfgC

4. ¢ 3[AD



Question Number : 17 Question Id : 9277594438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. #* Image 1
2. % Image 2
3. # Image 3
4. # Image 4

Question Number : 17 Question Id : 9277594438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faedl 7 @ & T AT 9% I UM &1 gTiie, T [Ahed 370 diF &1 aRE 81 8| 39 ey &1 T & off 370 T 3T g |




Options :

1. % Bfd 1
2. ¥ Bfd2
3. % Bfd3
4. % Bfd4

Question Number : 18 Question Id : 9277594439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figure is the correct mirror image of the given figure?

Options :
1. % Image A

2. # Image B



3. % Image C

4. ¥ Image D

Question Number : 18 Question Id : 9277594439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe Teh <UUT Y @1 AB TR 3G ST 7, l IR 3MpTa & F 1= W &1 7 3l 1 qdfor ofd 22

Options :

1. % A

2. % BAB



3. % BfdC

4. ¢ BAD

Question Number : 19 Question Id : 9277594440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following Venn Diagram, 'Pentagon’ represents 'LG', 'Circle' represents 'Laptop' and 'Rectangle’ represents 'TV', then which alphabet
represents 'LG laptop'?

Options :
1. % A
2.¥ B
3.% C
4. % D

Question Number : 19 Question Id : 9277594440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Al o S o, UaYS 'LG' &1 UfATYa FHRdl 8, ‘IO dueia &1 UiafTeia oal ¢ 3R 'S Slat &1 wiaFfiia sxar g, dl dH
1 3R 'LG AUCTT BT Ui Hal 62

Options :
1. % A
2.¥ B
3. C
4. % D

Question Number : 20 Question Id : 9277594441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three different positions of the same dice are given below. What will be on the face opposite to face showing '5'?

Options :
1. %3
2.9 1
3.% 4
4. % 2

Question Number : 20 Question Id : 9277594441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T 81 U ot oA faftre fRufaar = Y 18 €115 fowd o & I fRUd wae R o1 gime

Options :
1. * 3
2.9¥ 1
3.% 4
4. % 2
General Awareness
Group Number : 2
Group Id : 927759134
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Question Number : 21 Question Id : 9277594442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following organisations has developed a High Strength Beta Titanium alloy for acrospace structural forgings?
Options :

1. ¥ ADA(Aeronautical Development Agency)

2. # DMRL(Defence Metallurgical Research Laboratory)

3. % ISRO(Indian Space Research Organisation)

4. ¥ DRDO (Defence Research and Defence Organisation)

Question Number : 21 Question Id : 9277594442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # 3 forg Ta 3 aidier TRETES BIRAT & T 818 Ty dier ergefam faurg e 132
Options :

1. ® ADA (IR faeT 3iftyesm)

2. % DMRL (f$%=g Heafviad R dakes)

3. % SR (URA 3fRer S8 H13)

4. ¥ DRDO (& 3THYTT UG I&T TTS)

Question Number : 22 Question Id : 9277594443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following countries has successfully test-fired the S-500 air defence missile system?
Options :

1. ¥ Russia



2. * India
3. # America
4. % China

Question Number : 22 Question Id : 9277594443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed # § fa =17 s-500 g e firmga Rew &1 awd tRieor fasa g2
Options :

1. ¥ Y

2. % HRd

3. % 3ARBI

4. % 4

Question Number : 23 Question Id : 9277594444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the main occupation of people of the Palaeolithic age?
Options :

1. # Farmers

2. % Herders

3. #® Traders

4. ¥ Hunting

Question Number : 23 Question Id : 9277594444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRIUTSTUT hTdd & ATl T YT AT T Y12
Options :

1. % fam

2. % TRATG



3. % IRl
4. ¢ ISR BT

Question Number : 24 Question Id : 9277594445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the author of 'Chanhu Daro excavations 1935-36'?
Options :

1. # Daya Ram Sahni

2. ¥ Earnest J.H. M'ckay

3. % Dwijendra Narayan Jha

4. ¥ R.C.Majumdar

Question Number : 24 Question Id : 9277594445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafifad § & B =g <5 TRBATH 1935-36' P ATD 82
Options :

1. % 1A gl

2. ¢ 3RC ST, B

3. % fgolg TRM™O N

4. % IR Y AGHGR

Question Number : 25 Question Id : 9277594446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following case, the Supreme Court state Preamble as key to the minds of the makers of the Constitution?
Options :

1. ¥ Berubari Union Case 1960

2. # 1.C.Golaknath Case 1967

3. % Minerva Mills Case 1980



4. % Kesavananda Bharati Case 1973

Question Number : 25 Question Id : 9277594446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # 3 forg Ame ¥, Sead <amTerd TRaraT &1 ey Rafdrei & faum &t ot adrar 32
Options :

1. ¢ SISl G DY 1960

2. % 38 W MABTY HIF 1967

3. % fiaf fireg &9 1980

4, % DHIAMG HRAl B 1973

Question Number : 26 Question Id : 9277594447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following Schedule of the Indian Constitution the 'Concurrent List' is given?
Options :

1. % 5th

2. % 6th

3. % 7th

4. % 8th

Question Number : 26 Question Id : 9277594447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R Tfaem & Fofaied 3 § iy i & gwadf gt & 8 82
Options :

1. ® 5di

2. % 631

3. ¢ 7dt

4. % gdf



Question Number : 27 Question Id : 9277594448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who invented the game of Chess?
Options :

1. # Iran

2. % England

3. % India

4. ® Japan

Question Number : 27 Question Id : 9277594448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AN & WA BT SAHR foog- foam
Options :

1. % M

2. ® SIS

3. ¢ YRd

4. % SOH

Question Number : 28 Question Id : 9277594449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Prakash Padukone was a famous player of:
Options :

1. # Cricket

2. ¥ Badminton

3. % Table tennis

4. # Long Tennis

Question Number : 28 Question Id : 9277594449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

UHhTRI UTgeh 0l g o Ui Raarst 2
Options :

1. % fhore

2. Jefiied

3. % ¢qd Y

4. % qRT AN

Question Number : 29 Question Id : 9277594450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following had written the National anthem of Bangladesh 'Amar Sonar Bangla'?
Options :

1. % Swami Yogananda Paramhansa

2. % Hasrat Mohani

3. ¥ Rabindranath Tagore

4. ¥ Shyamlal Gupta

Question Number : 29 Question Id : 9277594450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 forem IRaTeer &1 AP 3R FHR g ferer ur
Options :

1. % TTHl TG TREES

2. % BERA WG

3. ¥ G SR

4. % QYTHATT W

Question Number : 30 Question Id : 9277594451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The Nuakhai festival is mainly seen in which state?
Options :

1. ¥ Odisha

2. % Bihar

3. # Bengal

4, % Uttar Pradesh

Question Number : 30 Question Id : 9277594451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J3MRATE AIeR T ¥ I forg 30 § ATa1 Sl /2
Options :

1. ¢ 3fifszm
2. % f9gR
3. % 9IS
4. % WYY

Question Number : 31 Question Id : 9277594452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
India is surrounded by the in the east, the in the west, and the to the south.

Options :

1. ¥ Bay of Bengal--Arabian Sea--Indian Ocean
2. % Arabian Sea--Indian Ocean--Bay of Bengal
3. ¥ Arabian Sea--Bay of Bengal--Indian Ocean
4. # Indian Ocean--Arabian Sea--Bay of Bengal

Question Number : 31 Question Id : 9277594452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR gd | , iy o 3R gfeor & I fRRT g



Options :

1. ¢ T Dl Wlel-3Rd YMR-§¢ AR
2. % 3RY YR-Ee HENIR-§TS &1 Wl
3. % 3Rd YTR-A ! Wel-ldg HERINR
4. % 8¢ HENITR-3Rd GFR-§Td &I WIo!

Question Number : 32 Question Id : 9277594453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nilgiri Hills is also known as:

Options :

1. ¥ Blue Mountains

2. ® Green Mountains

3. # Red Mountains

4. ® Pink Mountains

Question Number : 32 Question Id : 9277594453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Traff gifeal & 59 a8 J S orar @:
Options :

1. ¢ a1 udd

2. % g Udd

3. % A gdd

4. % TQTE Uad

Question Number : 33 Question Id : 9277594454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year, NSE India(National Stock Exchange of India Ltd.) was incorporated?
Options :



1. * 1991
2.9 1992
3. % 1993
4. % 1994

Question Number : 33 Question Id : 9277594454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg 98 H, NSE 3T (=M Widh Taeis 3Tt sfean fifiies) o wnfire fasan mam um
Options :

1. % 1991

2.9 1992

3. %1993

4. % 1994

Question Number : 34 Question Id : 9277594455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is Baking Soda?
Options :

1. ¥ Sodium Bicarbonate

2. % Sodium chloride

3. % Sodium sulphate

4. % Sodium nitrate

Question Number : 34 Question Id : 9277594455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad 7 3 oF a1 dfdb e g2

Options :

1. ¢ QifsTd TRHEHT



2. % QSTH FTIREZS
3. % gifead Tethe
4. % GIETH 8¢

Question Number : 35 Question Id : 9277594456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which of the following temperature, the density of water is highest?
Options :

1. % 37°F

2. % 38°F

3. ¥ 39°F

4. % 40°F

Question Number : 35 Question Id : 9277594456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad § 3 g aromm W, gt &1 9 Ta S giaT 82
Options :

1. # 37°F

2. % 38°F

3. % 39°F

4. % 40°F

Question Number : 36 Question Id : 9277594457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The chemical symbol of Gold is:
Options :

1. % Ag

2.% Au

3. % Al



4. % Ga

Question Number : 36 Question Id : 9277594457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIECARIIDIECACEAE

Options :

1. % Ag

2.% Au

3. % Al

4. % Ga

Question Number : 37 Question Id : 9277594458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has propounded '"The Theory of Relativity'?
Options :

1. ¥ Albert Einstein

2. # Issac Newton

3. % Elsa Einstein

4. % Stephen Hawking

Question Number : 37 Question Id : 9277594458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feper qTardT 1 Rygier et foba 82
Options :

1. ¢ 3fcEc A

2. % ISP e

3. % T eI

4. % B 8lIpT




Question Number : 38 Question Id : 9277594459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CSIR &1 Ui JU= 3

Options :

1. % IR oIt TEY TS gexe Rud

2. ¥ BRI TP TRl Ts sefeaa g
3. % P 3TH AEfefhed Us Ssfad R
4. % PG 3 WY TS ee Red

Question Number : 38 Question Id : 9277594459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CSIR stands for:

Options :

1. #® Council of Science and Internet Research

2. % Council of Scientific and Industrial Research

3. # Combination of Scientific and Industrial Research

4. ® Combination of Science and Internet Research

Question Number : 39 Question Id : 9277594460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, Mother Teresa won the Noble Peace Prize?
Options :

1. #1977

2. %1978

3.4 1979

4. % 1980

Question Number : 39 Question Id : 9277594460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fore v o, FeR &R 7 Fied ifd REBR ST Ur
Options :

1. #1977

2. % 1978

3.4 1979

4. % 1980

Question Number : 40 Question Id : 9277594461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following has written 'My experiments with the Truth'?
Options :

1. ¥ M.K.Gandhi

2. % Rabindra Nath Tagore

3. # Sir Thomas Moor

4. % E.M.Forster

Question Number : 40 Question Id : 9277594461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fofaied o © feam |15 Teguiecy g g gu forar g2
Options :

1. ¢ TH.D e

2. % STy IR

3. % W YMY R

4. % SUABRR

Arithmetic Ability



Group Number : 3

Group Id : 927759135
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 927759154
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759182
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9277594462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark(?) in the following question?

432 x 18 +36 x54=9x 72+ 81 x?
Options :
1. ® 103
2. % 107



3. % 109
4.4 112

Question Number : 41 Question Id : 9277594462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRad us & usara® g () & RIM IR F1 31U
432 x 18 +36 x 54=9 x 72+ 81 x?

Options :
1. % 103
2. % 107
3. % 109
4.9 112

Question Number : 42 Question Id : 9277594463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What approximate value will come in the place of question mark(?) in the following question?

(3008.01/32.01) % [(3.99/6.01) x (510.01/169.99)] = ?
Options :
1. % 144
2. % 244
3. % 104
4.+ 188

Question Number : 42 Question Id : 9277594463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgferfad uy o usaras g (2) & RIM TR AHT fba1 A4 ST
(3008.01/32.01) x [(3.99/6.01) x (510.01/169.99)] = ?

Options :

1. = 144



2. % 244
3. % 104
4. ¥ 188

Question Number : 43 Question Id : 9277594464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark(?) in the following question?

1(2/13) x 338 + 2 =81 x 3 + 237
Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.70

2.75

3.82

4.90

Question Number : 43 Question Id : 9277594464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad us H usiaras g (2) & R IR &7 31T
1(2/13) x 338 + 2 = 81 x 3 + 237

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.70

2.75

3.82

4.90



Question Number : 44 Question Id : 9277594465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two numbers are in the ratio 4 : 5 and the product of their L.C.M. & H.C.F is 98000. Find the sum of the numbers.
Options :

1. % 280

2. % 350

3. % 70

4. % 630

Question Number : 44 Question Id : 9277594465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Q=TT 4 : 5 % IO H § SR S agay IHIGd® AR AGTH THUG® 1 TUFHE 98000 & | SRS o1 I 1d He |
Options :

1. % 280

2. % 350

3. % 70

4.9 630

Question Number : 45 Question Id : 9277594466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l TeATeft 1 UHT 6727 7| Af¢ 37 TResif &1 HewH HIdd® 31 |, < 981 BT &
Options :

1. ® 207

2.% 217

3. % 197

4. % 187

Question Number : 45 Question Id : 9277594466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The product of two numbers is 6727. If the H.C.F. of these numbers is 31, then the greater number is:
Options :

1. ® 207

2.9 217

3. %197

4. % 187

Question Number : 46 Question Id : 9277594467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B had certain sum of money in the ratio of 7 : 4 and they spend their money in purchasing book in the ratio 11 : 5. After purchasing books
each of them have Rs. 6000. Find money of A which he initially had.

Options :

1. ¥ Rs. 28000
2. % Rs. 16000
3. % Rs. 14000
4. % Rs. 8000

Question Number : 46 Question Id : 9277594467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ASRBHUN7: 4 P Urd & fAfda A ot 3R I 301 U 11: 5 & U H [ Wiie- H Td I & | T Wiig- & 916 38 4
TAP & TR 6000 SUTIEA | A & U 1 B3 ol ITH U URY H 3|

Options :

1. ¢ 28000 ¥UY

2. % 16000 ¥UY

3. % 14000 3T

4. % 8000 ¥UY

Question Number : 47 Question Id : 9277594468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A tank contains 100 litres mixture of whisky and water in the ratio of 4 : 1. (3/10)th of this is taken out and then 2 litres of water is added to the
tank. Further (1/4)th of the mixture is taken out and 3 litres of whisky is added. Find the ratio of whisky and water in the resultant mixture.

Options :
1. % 4:15
2.% 15:3
3.% 3:15
4.9 15:4

Question Number : 47 Question Id : 9277594468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS B H 100 e [RT! IR Ut 1 fHgor4 . 1 & 31399 T (3/10)al HRT fFepTet foram Sirar g 3R fihr et H 2 ofie” Ut fiyen
%m;m%mﬁﬁrsmmuﬂmmﬂﬁwmw 3R 3 ftex fogwpt firan &t ot g 1 afkomt firsyor & fgxant iR Uit 1 SrguTd
AT DR

Options :

1. % 4:15

2.%15:3

3.% 3:15

4. ¥ 15:4

Question Number : 48 Question Id : 9277594469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P QP AT 20% 31 fAa=r fpan, 3R Q A R & Faw1 ¥ 20% 4 faw1 fovan afe fiHi safdaal &1 $a fawr 5520 $UU R, AR &1
[EERIEIRESY

Options :

1. * 1980 ¥UUd

2. % 2000 %UC¢

3. % 31204

4. % 1800 ®UU



Question Number : 48 Question Id : 9277594469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P invested 20% more than the investment of Q, and Q invested 20% less than the investment of R. If the total investment of all the three persons
1s Rs 5520, then find the investment of R.

Options :

1. % Rs. 1980
2. % Rs. 2000
3. ¥ Rs. 3120
4. % Rs. 1800

Question Number : 49 Question Id : 9277594470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of expenditure and savings of a person is 7 : 3. If income increases by 20% and expenditure increases by 30%, then find percentage
decrease in savings.

Options :
1. % 6.67%
2.9 3.33%
3. % 10%
4. % 12.5%

Question Number : 49 Question Id : 9277594470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Afdd & T 3R F9d HI 30 7 : 3 51 TG 3 T 20% T (G Bl §3R 379 H 30% ¥ gfx Biclt 7, I 99d # Uia=rd &4l J1d He |
Options :

1. ® 6.67%

2. ¥ 333%

3. % 10%

4. % 12.5%




Question Number : 50 Question Id : 9277594471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average weight of some persons in a group is 38 kg per person. A new person of 40 kg joins the group and a person of 50 kg leaves the group the
average weight decreased by 0.5 kg. Find the number of persons in the group.

Options :
1. ¥ 20
2. % 22
3. % 30
4. % 25

Question Number : 50 Question Id : 9277594471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH JHE H $© Afaqd] &1 3id HR U e 38 kg 81 40 kg BT U 141 Hfad T H WA BIdT § 3R 50 kg BT A TE BIS odl &,
3T HR 0.5 kg T HH 81 ST 8 | T H i Pt Tvedm J1d B |

Options :

1. ¥ 20

2. % 22

3. % 30

4. % 25

Question Number : 51 Question Id : 9277594472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven years ago, the average age of a family of four members was 25 years. Two years back, a fifth member was born. What is the average age
of the family?

Options :

1. % 23 years
2. % 24 years
3. % 25 years



4. ¥ 26 years

Question Number : 51 Question Id : 9277594472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T U8 d, IR el o T URAR $I 3iad 317 25 T Y| & 99 Ugd, Uiad Yo &1 o §3fT 4TI URAR Bt 3i¥d 31 &1 82
Options :

1. % 2399

2. % 249Y

3. % 2599

4. 26dY

Question Number : 52 Question Id : 9277594473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A book was sold for Rs. 36 with a profit of 20%. If it were sold for Rs. 33, then what would be profit percentage?
Options :

1. %® 5%

2. % 10%

3. % 7.5%

4. % 3%

Question Number : 52 Question Id : 9277594473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T GEIP 20% & AH & 1Y 36 TUT T ool | afd T 33 3UT H o1 S7d, ol A1y Ufd=rd o1 g
Options :

1. % 5%

2. % 10%

3. % 7.5%

4. % 3%




Question Number : 53 Question Id : 9277594474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

48 kg of a certain variety of rice at Rs. 30 per kg is mixed with 32 kg of another variety of rice and the mixture is sold at the average price of
Rs.28 per kg. If there be no profit or loss due to the new sale price, then the price of the second variety of rice is:

Options :

1. ¥ Rs. 25/kg
2. #% Rs. 20/kg
3. % Rs. 24/ke
4. ¥ Rs. 16/kg

Question Number : 53 Question Id : 9277594474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 ¥UT Ufd kg & Ged & FTAd T & T1ad & 48 ke 1 A1G0 DI U 314 e & 32 kg & A1 T SITm € SR 81 &1 28 $uQ ufd
kg & I T R oA1 SIIT ¢ | IS U feh! Jed & HRUI dhls A1 I1 81 81 gicil 8, Al a1adl & gusl [ &1 99 ©:

Options :

1. ¥ 253UU/kg
2. % 20°UU/kg
3. % 243UUJkg
4. % 16 >UU/kg

Question Number : 54 Question Id : 9277594475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A chair cost price is Rs. 400 and it is labeled as Rs. 1000. But if anyone purchase 3 chairs he will get 2 free chairs along with it. And after that
trader also gave a 20% discount. Find overall profit of trader.

Options :
1. ¥ 20%
2. % 30%
3. % 25%



4. %= 40%

Question Number : 54 Question Id : 9277594475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HU B AT e 400 FUT 3R T 1000 TIT J A fosa1 71 g | Afeh1 afe B8 3 HRIAT Wied g df 3 39D 1Y 2 Jud HiRiar it
AT | 3iR 3P a1 TR A 20% &1 Fe o < AURY &1 907 a1y I B

Options :

1. ¥ 20%

2. % 30%

3. % 25%

4. % 40%

Question Number : 55 Question Id : 9277594476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money at simple interest amounts to Rs. 715 in 3 years and to Rs. 754 in 4 years. The sum is:
Options :

1. % Rs. 550

2. % Rs. 590

3. ¥ Rs. 598

4. % Rs. 600

Question Number : 55 Question Id : 9277594476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TERUT 7S] TR TP AR 3 T H 715 ¥UT 3R 4 T4 & 754 YT & SRI6R 51 offcll 6 | IR 6:
Options :

1. # 550U

2. % 590 %4y

3. ¥ 598 ¥UU




4. % 600%Ul

Question Number : 56 Question Id : 9277594477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The total area of a rectangle and a circle is 3970 sq. cm. The radius of the circle is equal to the semi perimeter of the triangle. The perimeter of
the triangle is 70 cm and the length of the rectangle is (3/7)th of the radius of the circle. Then, what is the ratio of the perimeter of the rectangle to
the perimeter of the circle?

Options :
1.¥23:110
2. % 33:115
3.% 3:5
4. % 2:11

Question Number : 56 Question Id : 9277594477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T 3R T BT S &FAH 3970 sq. om. & | G D1 e, Y & 31¢f TRATT & SR1eR 8 | FHYS BT IRAM 70 em § 3R 31Ad 1
TaTS g Bt AT BT (3/7)al g1 W, STd & URAY BT g & URHATT I 30T 37 82

Options :

1.¥23:110

2. % 33:115

3.%3:5

4.% 2111

Question Number : 57 Question Id : 9277594478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pipe A alone can fill the tank in 20 hours while Pipe B can empty the tank in 30 hours. Pipe C alone can fill the tank in certain hours. If all three
pipes are opened simultaneously for 5 hours and then pipe C is closed. Pipe A and Pipe B takes 30 hours to fill the remaining tank. Pipe C alone
can fill the tank in

Options :
1. ¥ 12 hours



2. % 10 hours
3. # 15 hours
4. % 25 hours

Question Number : 57 Question Id : 9277594478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TI3Y A 3BT Thl DI 20 U T HR vl g STah 13U B T &1 30 TS H Wl I bl ¢ | TIZU C bl <bl Bl $S Hel § R Ihal g
gfe =1 uT3ul &) U 1Y 5 He & oy Wid foam a8 iR fihR sy ¢ 31 &g &R i ST 81 U1sU A iR UIgU B QW b1 1 1A H 30
e HIIAI A G I URUC 3pachidl  H R IPhdrgl

Options :

.¥127%¢

2. % 10€C

3. % [54C

4, % 25%C

Question Number : 58 Question Id : 9277594479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two trains X and Y are running in opposite directions. Speed of X is four times that of Y and they cross each other in 56 seconds. If the two
trains travel in same directions and length of train X and train Y are 130 m and 150 m respectively then, how much time will it take for a person
sitting in faster train to cross the slower train?

Options :

1. # 30 sec
2. * 40 sec
3. % 50 sec
4. %= 60 sec

Question Number : 58 Question Id : 9277594479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& Yemfeat x ofR v faudia femmsii # 9a @ g1 X H1fd, Y P A VIR AT ] 3R 9 U G Bl 56 Yhs A UR o’ g1 IS <&l




YISl U o =0 & I Bl 8 3R YS! X 3R ITHMS! Y &l dals HHRE 130 m 3R 150 m g, Al dof YavTe! # 9& aafad & it

YS! DI OR B H (a1 IH7d T

Options :

1. % 30 b3
2. % 409D
3. ¢ 50 b s
4. % 60 9HS

Question Number : 59 Question Id : 9277594480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The table given below shows number of food items prepared on different days.

Find the difference between the number of Food items prepared on Tuesday and Monday.

ltems/Days Monday Tuesday Wednesday Thursday
Pasta 50 70 a0 100
Burgers 70 80 95 110
Cakes 100 120 0 85
Cold drinks 120 150 200 220
Options :
1. * 70
2. % 60
3.9 80
4. % 90

Question Number : 59 Question Id : 9277594480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

2 <t 18 arferet fafi fom § R fore U @ uerdf &t T o it ]

TR 3R TR &) dOR 6T 78 Wre) uerdf ot T=a1 & &g &1 3R J1d He |




mgen/feA HHER RACEIH Fuar TR
T 50 70 80 100
Tl 70 80 95 110
FF 100 120 90 85
wreg fE= 120 150 200 220
Options :
1. % 70
2. % 60
3.9 80
4. % 90

Question Number : 60 Question Id : 9277594481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The graph given below shows number of selected candidates in different positions by three banks in 2021.
What is the average number of selected candidates by bank A in all positions taken together?

-=—Bank A BankB —s—BankC

iy

300

300 4
200 -
100

Number of selected candidates

Manager Senior Manager Chief Manager Assistant General Deputy General General Manager
Manager Manager

Candidates in different positions

Options :



1. ¥ 450
2. ® 460
3. % 375
4. % 475

Question Number : 60 Question Id : 9277594481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ 450
2. % 460
3. % 375
4, % 475

General English
Group Number : 4



Group Id : 927759136

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English

Section Id : 927759155

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759183

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9277594482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Four seminars was held in July, / one each for trustees, presidents, / deans, and school heads.
Options :
1. ¥ Four seminars was held in July,

2. * one each for trustees, presidents



3. #® deans, and school heads
4. * No Error

Question Number : 61 Question Id : 9277594482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Four seminars was held in July, / one each for trustees, presidents, / deans, and school heads.
Options :

1. ¥ Four seminars was held in July,

2. ® one each for trustees, presidents

3. # deans, and school heads

4. * No Error

Question Number : 62 Question Id : 9277594483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

I divided the specimens in to three groups / of about twenty each and handed out the / first group after my talk.
Options :

1. ¥ I divided the specimens in to three groups

2. % of about twenty each and handed out the

3. % first group after my talk.

4. % No Error

Question Number : 62 Question Id : 9277594483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the



option 'No Error'.

I divided the specimens in to three groups / of about twenty each and handed out the / first group after my talk.
Options :

1. ¥ 1 divided the specimens in to three groups

2. % of about twenty each and handed out the

3. % first group after my talk.

4. ® No Error

Question Number : 63 Question Id : 9277594484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The fourth leaf (was being allow to transpire) normally, or was wrapped in a transparent plastic bag.
Options :

1. # was allow to transpiration

2. % was allowed to transpire

3. % was allowed to transpiration

4. ® No correction required

Question Number : 63 Question Id : 9277594484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The fourth leaf (was being allow to transpire) normally, or was wrapped in a transparent plastic bag.
Options :

1. #® was allow to transpiration

2. ¥ was allowed to transpire

3. # was allowed to transpiration

4. ® No correction required



Question Number : 64 Question Id : 9277594485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Her infant son sat next to her and (was being fidgeting, agitated and unable) to sleep.
Options :

1. # has been fidgeting, agitated and unable

2. # was fidgeting, more agitated and unable

3. ¥ was fidgeting, agitated and unable

4. # No correction required

Question Number : 64 Question Id : 9277594485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Her infant son sat next to her and (was being fidgeting, agitated and unable) to sleep.
Options :

1. * has been fidgeting, agitated and unable

2. # was fidgeting, more agitated and unable

3. ¥ was fidgeting, agitated and unable

4. # No correction required

Question Number : 65 Question Id : 9277594486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The company and withdrew the T-shirt uniform after a public outcry.
Options :



1. # backed up
2. ¥ backed down
3. % backed off
4. * backed in

Question Number : 65 Question Id : 9277594486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The company and withdrew the T-shirt uniform after a public outcry.
Options :

1. # backed up

2. ¥ backed down

3. # backed off

4. ® backed in

Question Number : 66 Question Id : 9277594487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best word to complete the sentence.

But in the case of China and Taiwan, the in scale of population and power between the mainland and the island is enormous.
Options :

1. ¥ disproportion

2. % agreement

3. # similarity

4. # sufficiency

Question Number : 66 Question Id : 9277594487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best word to complete the sentence.



But in the case of China and Taiwan, the in scale of population and power between the mainland and the island is enormous.
Options :

1. ¥ disproportion

2. % agreement

3. # similarity

4. # sufficiency

Question Number : 67 Question Id : 9277594488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The Government of India Act 1919 had

P. British India however, Indian opinion clamoured for revision of

Q. itself stated that a commission would be appointed after ten years to
R. this form of government, and the Government of India Act 1919

S. introduced the system of diarchy to govern the provinces of

investigate the progress of the governance scheme and suggest new steps for reform.
Options :

1. % RQSP

2.+ SPRQ

3. ¥ PQRS

4. % PSQR

Question Number : 67 Question Id : 9277594488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts



can be rearranged to form a meaningful and grammatically correct sentence.
The Government of India Act 1919 had

P. British India however, Indian opinion clamoured for revision of

Q. itself stated that a commission would be appointed after ten years to

R. this form of government, and the Government of India Act 1919

S. introduced the system of diarchy to govern the provinces of

investigate the progress of the governance scheme and suggest new steps for reform.
Options :

1. # RQSP

2. % SPRQ

3. ¥ PQRS

4. % PSQR

Question Number : 68 Question Id : 9277594489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Shastri died in Tashkent, Uzbekistan (then Soviet Union) on 11 January 1966, one day after signing a peace treaty to end the 1965 Indo-Pakistan
War.

P. Upon his death, Gulzarilal Nanda once again assumed the role of Acting Prime Minister.

Q. Many among Shastri's supporters and close relatives, refused at the time, and have refused since, to believe the circumstances of his death and
allege foul play.

R. Conspiracy theories appeared within hours of his death and have thereafter persisted.

S. He was eulogized as a national hero and the Vijay Ghat memorial established in his memory.



Gulzarilal Nanda remained the prime minister until the Congress Parliamentary Party elected Indira Gandhi over Morarji Desai to officially
succeed Shastri.

Options :

1. ¥ QRSP
2. % SPQR
3. ¥ RPSQ
4. ¥ RSQP

Question Number : 68 Question Id : 9277594489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Shastri died in Tashkent, Uzbekistan (then Soviet Union) on 11 January 1966, one day after signing a peace treaty to end the 1965 Indo-Pakistan
War.

P. Upon his death, Gulzarilal Nanda once again assumed the role of Acting Prime Minister.

Q. Many among Shastri's supporters and close relatives, refused at the time, and have refused since, to believe the circumstances of his death and
allege foul play.

R. Conspiracy theories appeared within hours of his death and have thereafter persisted.
S. He was eulogized as a national hero and the Vijay Ghat memorial established in his memory.

Gulzarilal Nanda remained the prime minister until the Congress Parliamentary Party elected Indira Gandhi over Morarji Desai to officially
succeed Shastri.

Options :

1. ¥ QRSP
2. % SPQR
3. % RPSQ
4. % RSQP

Question Number : 69 Question Id : 9277594490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ STILETTO

2. # STILLETTO

3. # STILETTOE

4. ® STILLETO

Question Number : 69 Question Id : 9277594490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % STILETTO

2. % STILLETTO

3. % STILETTOE

4. % STILLETO

Question Number : 70 Question Id : 9277594491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

MULTITUDE
Options :

1. ¥ HORDE
2. %
MINORITY
3. %
HANDFUL

4. %
PORTION



Question Number : 70 Question Id : 9277594491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

MULTITUDE
Options :

1. ¥ HORDE
2. %
MINORITY
3. %
HANDFUL

4. %
PORTION

Question Number : 71 Question Id : 9277594492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

INNOCUOUS
Options :

1. ¥ HURTFUL
2. % DELICIOUS
3.¢
INOFFENSIVE

4, ®
DESTRUCTIVE

Question Number : 71 Question Id : 9277594492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.



INNOCUOUS
Options :

1. ¥ HURTFUL
2. % DELICIOUS
3.¢
INOFFENSIVE

4. %
DESTRUCTIVE

Question Number : 72 Question Id : 9277594493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

COPIOUS
Options :

1. #
EXUBERANT
2.9
MEAGER

3. %
EXTENSIVE
4, %
GENEROUS

Question Number : 72 Question Id : 9277594493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

COPIOUS
Options :

1. %
EXUBERANT



2.9
MEAGER

3. %
EXTENSIVE
4, %
GENEROUS

Question Number : 73 Question Id : 9277594494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning for the word given below.

Gourmand

Options :

1. # A person of intellectual or erudite tastes.

2. % A person who likes food and tends to eat to excess.
3. # One who does not express himself freely.

4. ¥ One who lives in solitude.

Question Number : 73 Question Id : 9277594494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning for the word given below.

Gourmand

Options :

1. # A person of intellectual or erudite tastes.

2. ¥ A person who likes food and tends to eat to excess.
3. # One who does not express himself freely.

4. % One who lives in solitude.

Question Number : 74 Question Id : 9277594495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Hit the hay

Options :

1. #® Feed the horses.
2. ¥ Go to bed.

3. # Fight for own self.

4. ® Achieve ones' goals.

Question Number : 74 Question Id : 9277594495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Hit the hay

Options :

1. #® Feed the horses.
2. ¥ Go to bed.

3. % Fight for own self.

4. % Achieve ones' goals.

Question Number : 75 Question Id : 9277594496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

Rome was not built in a day.

Options :

1. ¥ Major undertakings are not completed all at once.
2. # Small tasks can be accomplished fast.

3. # To not waste time.

4. % Prioritize your work.



Question Number : 75 Question Id : 9277594496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

Rome was not built in a day.

Options :

1. ¥ Major undertakings are not completed all at once.
2. % Small tasks can be accomplished fast.

3. * To not waste time.

4. # Prioritize your work.

Sub-Section Number : 2
Sub-Section Id : 927759184
Question Shuffling Allowed : Yes

Question Id : 9277594497 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Maneskin is an Italian rock band formed in Rome in 2016. The group's line-up consists of vocalist Damiano David, bassist Victoria De Angelis,
guitarist Thomas Raggi and drummer Ethan Torchio. Performing in the streets in their early days, the band rose to prominence after finishing
second in the eleventh season of the Italian talent show X Factor in 2017. The band members Damiano David, Victoria De Angelis and Thomas
Raggi first met each other as students during high school days in Rome, while Ethan Torchio from nearby Frosinone soon joined them when they
were inquiring for a drummer to complete the line-up. Although band origins can be traced to 2015, it was officially formed in 2016 when band
members had to choose the band's name because they had decided to register for Pulse, a local music contest for emerging bands. While
brainstorming, De Angelis, who is half Danish, was asked by her bandmates to toss out some Danish words, and they agreed on Maneskin
("moonlight"), although its meaning is not related to the band itself. The Pulse Contest also marked a turning point in their career, since they had
to start writing their own songs. The competition led them to perform at the Felt Music Club & School in front of 200-300 people, and they later
went on to win first prize. They later performed as buskers in the streets of the Colli Portuensi district of Rome, as well as in the historical centre
of Rome, including in Via del Corso. One of their first live concerts outside their native city took place in Faenza, at the 2016 Meeting of
Independent Record Labels. Approximately 30 people attended the show. After a trip to Denmark, during which the band also performed some
live shows, Méneskin strengthened their cohesiveness, and started to play together for several hours a day.

Sub questions



Question Number : 76 Question Id : 9277594498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is similar in meaning to the underlined word 'Maneskin strengthened their cohesiveness' from the given options?
Options :

1. # Accomplishment

2. # Proficiency

3. ¥ Cohesion

4. % Artistry

Question Number : 77 Question Id : 9277594499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is opposite in meaning to the underlined word 'While brainstorming, De Angelis..." from the given options?
Options :

1. # Conceptualize

2. ¥ Idiocy

3. % Put heads together

4. # Intelligence

Question Number : 78 Question Id : 9277594500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what is the meaning of the word 'Méneskin'?
Options :

1. # Independent

2. %

Street players

3. %

Freedom

4. &

Moonlight



Question Number : 79 Question Id : 9277594501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three assertions are given below (A, B & C) on the basis of your understanding of the passage, which of the following assertions are correct?

A. The band originated in 2015, however it was officially formed in 2016.
B. Three of the band members met in Rome during high school.

C. The band performed on streets in their early days, rose to prominence in the 11th season of the Italian talent show X Factor in 2017.
Options :

1. ¥ Only A and B is correct

2. % Only B and C is correct

3. % Only A and C is correct

4. % All Assertions A, B and C are correct

Question Number : 80 Question Id : 9277594502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what is the meaning of 'to toss out some' ?
Options :

1. % To put something that is no longer useful or wanted in a trash can.
2. # To force someone to leave a place.

3. % To refuse to accept or consider.

4. ¥ To mention something as a possible thing to be done, thought about, etc.

Question Id : 9277594497 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Maneskin is an Italian rock band formed in Rome in 2016. The group's line-up consists of vocalist Damiano David, bassist Victoria De Angelis,
guitarist Thomas Raggi and drummer Ethan Torchio. Performing in the streets in their early days, the band rose to prominence after finishing



second in the eleventh season of the Italian talent show X Factor in 2017. The band members Damiano David, Victoria De Angelis and Thomas
Raggi first met each other as students during high school days in Rome, while Ethan Torchio from nearby Frosinone soon joined them when they
were inquiring for a drummer to complete the line-up. Although band origins can be traced to 2015, it was officially formed in 2016 when band
members had to choose the band's name because they had decided to register for Pulse, a local music contest for emerging bands. While
brainstorming, De Angelis, who is half Danish, was asked by her bandmates to toss out some Danish words, and they agreed on Maneskin
("moonlight"), although its meaning is not related to the band itself. The Pulse Contest also marked a turning point in their career, since they had
to start writing their own songs. The competition led them to perform at the Felt Music Club & School in front of 200-300 people, and they later
went on to win first prize. They later performed as buskers in the streets of the Colli Portuensi district of Rome, as well as in the historical centre
of Rome, including in Via del Corso. One of their first live concerts outside their native city took place in Faenza, at the 2016 Meeting of
Independent Record Labels. Approximately 30 people attended the show. After a trip to Denmark, during which the band also performed some
live shows, Maneskin strengthened their cohesiveness, and started to play together for several hours a day.

Sub questions

Question Number : 76 Question Id : 9277594498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is similar in meaning to the underlined word 'Maneskin strengthened their cohesiveness' from the given options?
Options :

1. # Accomplishment

2. # Proficiency

3. ¥ Cohesion

4. ¥ Artistry

Question Number : 77 Question Id : 9277594499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is opposite in meaning to the underlined word 'While brainstorming, De Angelis..." from the given options?
Options :

1. # Conceptualize

2. ¥ Idiocy

3. % Put heads together

4. # Intelligence

Question Number : 78 Question Id : 9277594500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what is the meaning of the word 'Méneskin'?
Options :

1. # Independent

2. %

Street players

3. %

Freedom

4.9

Moonlight

Question Number : 79 Question Id : 9277594501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three assertions are given below (A, B & C) on the basis of your understanding of the passage, which of the following assertions are correct?

A. The band originated in 2015, however it was officially formed in 2016.
B. Three of the band members met in Rome during high school.

C. The band performed on streets in their early days, rose to prominence in the 11th season of the Italian talent show X Factor in 2017.
Options :

1. ¥ Only A and B is correct

2. % Only B and C is correct

3. % Only A and C is correct

4. ¥ All Assertions A, B and C are correct

Question Number : 80 Question Id : 9277594502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what is the meaning of 'to toss out some' ?
Options :

1. % To put something that is no longer useful or wanted in a trash can.

2. # To force someone to leave a place.



3. * To refuse to accept or consider.

4. ¥ To mention something as a possible thing to be done, thought about, etc.
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Question Number : 81 Question Id : 9277594503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fgferfad uy d, IR foweal § 9, 39 fasweu o1 Ig7 &3¢ S AU TN Yeg & et Y fawde &1 fasweq 71|
A

Options :

1. % Hd + TR
2. ¥ Od + U
3. % Od+ 3
4, % Hd +3H

Question Number : 81 Question Id : 9277594503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfcRad U |, IR [adwedl 7 9, 39 fddhed &1 999 &1 o1l fGT U Weg & el WfY fowde &1 fddwed gl
Ad

Options :

1. % Hd + TR
2. ¢ Td + U
3.8 Ad+
4. % HI+ R

Question Number : 82 Question Id : 9277594504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad Uy , IR fadedl | 9, 39 fdehed &1 997 & off faT 7T Weg o {7 51 U1 Tg2y JHN o {98 1 fdeped 811

P
Options :
1. % PYWUY
2. ¥ YA IIA
3. % DY B A
4, % DY b UTH




Question Number : 82 Question Id : 9277594504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad Uy , IR fadedl | 9, 39 fdehed &1 997 B off faT 7T Weg o {7 51 U1 TG2y JHN o {98 1 fdeped 811

T
Options :
1. % PY WU
2. ¥ BT I A
3. % DY B A
4, % DY hI YA

Question Number : 83 Question Id : 9277594505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifed uy ¥, IR fawcdl 8 9, 39 f9wed &1 997 Y o Sua & 5 Xeg $1 g fadwed 7a1 31|
Options :

1. ¢ AR

2. % giid

3. % At

4. % 3Hc

Question Number : 83 Question Id : 9277594505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy 8, IR fadbedl § 9, 39 fddbey &1 999 B Sl SUTT U 9 e b1 gl fddbed a1 8l
Options :

1. ¥ AR

2. % gRitd

3. % g



4. % 3fige

Question Number : 84 Question Id : 9277594506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR ieedl 7 9, 39 9 o1 987 & ot 3T W Yo & YTTIaT! Weg b1 el f[dhed Ael g
&Rl

Options :
1. % B
2. % PHoR
3. % HdW
4. ¢ PR

Question Number : 84 Question Id : 9277594506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy A, IR ieeal 7 9, 39 fawcu o1 987 &% Ot feU 7T Yo & YTigaTel Weg b1 el fdbed T8l 5|
R

Options :
1. % P
2. % PR
3. % HAT
4. ¥ HU=%

Question Number : 85 Question Id : 9277594507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR ecal 7 9, 39 fahca &1 987 & o fAdiH Wsg &1 a9 331 faheu g |

STy




Options :
1. % fqy
2. % f&
3. v 3fd

4. % 7d

Question Number : 85 Question Id : 9277594507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR el 7 9, 39 fahcd o1 987 & o fadiH Weg &1 e 331 fabeu g |

AHY

Options :
1. % fay
2. % fa
3. ¢ 3fd

4. % 11d

Question Number : 86 Question Id : 9277594508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad Uy H, IR [Adeul 7 9, 39 I8! f[dwed &1 99 B3 Sl ITaiR & ol U Weg, &l [ddhed Bl
S ST SudAs 7 8

Options :

1. % 3ffyg
2. % golH
3. % gYg

4. ¥ M

Question Number : 86 Question Id : 9277594508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFafRad Uy |, IR [Adeul 7 9, 39 I8! f[dwed &1 99 B3 Sl ITaiR & ol U Weg, &l [ddhed |
S ST SudAs 7 8

Options :

1. % 3ffyg
2. % goH
3. % gYg

4. ¥ M

Question Number : 87 Question Id : 9277594509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed oy & IR fawedl # 9, 39 el fawed &1 997 & S Rad RIF & o Iuged Weg &1 el fawed g
fagTi &1 T8 HY- 9gd 31 & o fa-5ar & fam B DI o T8

Options :

1. % S
2. ¢ WgdAdl
3. % JHAgH
4. % TRAAAI

Question Number : 87 Question Id : 9277594509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy &, IR fawedl § 9, 39 el [dmed &1 99+ & S Rad RIF & o Iwgad e &1 el [dhed 5|
gl &1 98 B §gd 31 o & faTaar & fam HI D5 37 el

Options :

1. % STdradn
2. ¢ WGl

3. % 3[aRID




4, % qIqAdI

Question Number : 88 Question Id : 9277594510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeiad uy & IR fabedl & T, 39 f[9b e &1 999 &L o faT TN Wsg BT WiifelT =4 aral fdb ey g |
goif

Options :
1. ¢ g
2. % G
3. % TSl
4. % GOl

Question Number : 88 Question Id : 9277594510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofead uy & IR fowedl & T, 39 ey &1 Tua &3 S T TN Wsg &1 Wifel T &4 ardl fabeu g |
goif

Options :
1. ¥ G
2. % IO
3. % ol
4. % GOl

Question Number : 89 Question Id : 9277594511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy o, aR fawedl & T, 39 fawey &1 999 &3 Sl fAU U Wsg & §gd9 U &1 Ja 351 [adhe 3|




0y

Options :
1. % o9
2. % Ul
3. ¢ U
4. % U9

Question Number : 89 Question Id : 9277594511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 8§, IR sl & 9, 39 f[ddhed &1 99 & Sl 3T U 2Meg & Igad ©U T Jad 33T f[ddved 5|
0

Options :

1. % o9

2. % 9}

3. ¢ 0

4. % U9

Question Number : 90 Question Id : 9277594512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy §, aR fowedl § 9, 39 fawed &1 999 &3 ol 391 I3Y dTad Yo et &1 Jay 351 [ddhea g
Options :

1. %

2. % AU

3. 84

4. % dg




Question Number : 90 Question Id : 9277594512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed gy o, IR fawed! & 9, 39 [daed &1 997 &< ot 30 Yo d/ad Ja-TH e &1 Jad 3731 [ddhed 3|
Options :

1% q

2. % 34U

3. gH

4. % dg

Question Number : 91 Question Id : 9277594513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad oy o, aR fowedl & T, 39 fawey &1 999 &3 Sl foU T8 Weq-gH & 312 &1 Tad 3131 faded g |

RU LI
Options :

1. % fF-UH
2. % JO-qg
3. % Y-
4, ¢ -9

Question Number : 91 Question Id : 9277594513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9, 39 fadmed &1 78 H1 off [T U Xes-H & 31 HT Ty 3151 fadhed 5|

RU LI
Options :

1. % -89
2. % YUY
3. % YA



4, -9

Question Number : 92 Question Id : 9277594514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy O, IR fawedl O 1, 39 fawed &1 o9+ &< SNt faR19 forg god a1 &1 Aot fdded gl |
Options :

1. % U, g, Aig 3R Tig— I+ g o 8

2. % due Agd Hig 3R e It e fFF €

3. % U Ag: Hg 3R g gt s {7 g

4. ¢ AUH, A5, Hig 3R g4 gt uass {1 g

Question Number : 92 Question Id : 9277594514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafead gy #, TR fadbedl § 9, 39 fdebed o1 997 B off favH g o a1 1 Hg! faebed 31|
Options :

1. % €U, g, g 3R Tigd it ok T §

2. % e g Hie ol Hree Tt wap B 3

3. % U Ag: Mg SR Hige Wt uass i §

4. ¢ U, g, Hig IR Aig 9l g B g

Question Number : 93 Question Id : 9277594515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR foweal A 9, 39 faweu &1 97 &8 ot foT U Aeifad o1 gt 31 arerr fapea g |

Options :

1. % AaNg g
2. ¢ U TGH $D ol PR Fobdll




3. % 3Thd HId o
4. % QG AT BT

Question Number : 93 Question Id : 9277594515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiiad uy & IR foeeal ° T, 39 ey &1 Ta &1 oY T U Aipifad o1 gt 3 aran faseu g |

Options :

1. % qaNg g

2. ¢ U TCH! $& 7ol DR bl
3. % 3{%d Hid ol

4. % QI ATH B

Question Number : 94 Question Id : 9277594516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed Uy &, aR fawedl § 9, 39 fadhed &1 9a9 & ol &1 715 GeTaX &1 el o a1 fadwea g1
3T ¥ SR B -

Options :

1. ¢ HIY B I T = G
2. ® {JHH AdgR hAl
3. % §gd IR Bl

4. % FATST VI

Question Number : 94 Question Id : 9277594516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed oy & aR fawedl § 9, 39 fade &1 Tg9 &3 ot &t 718 GeTaX &1 Ja! 3 ara fadwed ]




30 3 STex B -
Options :

1. ¥ PIY DI TG 7 3G
2. % JHM HdgR DAl
3. % §gd TR Bl

4. % ST

Question Number : 95 Question Id : 9277594517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad oy & aR fawed # 9, 39 fadey &1 Tg9 &3 ot &Y 718 YeTa &1 Ja! 3 arar fadwe ]

HIITIC ST -

Options :

1. % & Y St fordr=
2. ¢ §gd S8 URadH gl
3. % po Ul SRR A
4. % Q0N R Hhe ST

Question Number : 95 Question Id : 9277594517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed Uy & aR fawedl § 9, 39 fadhed &1 9a9 & ol &1 718 JeTaX &1 Ja! o ara fadwed g

HITITC ST -

Options :

1. % gQ@ Y Siiqd faar

2. ¥ §gd §81 URddH gl

3. % g W SRR A

4. % YUl OR Gehe ST

Sub-Section Number : 2




Sub-Section Id : 927759186
Question Shuffling Allowed : Yes

Question Id : 9277594518 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)
T foU T TR % 91 5 Uy AU TR § 1 39 TN ) Yd e U 3R IR faded! H ¥ Udd Uy &1 Harad SR I |

YR TP BT O 3D A=Wy &) Wigh TXpfa & SR HRT B {3y & Aew@yul R T 8] 3Md el 3R ifert & gid gy oft

YR Teh 2R 9 U1Y w0 A oS gU &) Ffderar & Uepdl WRd & i@ &) ugaH 8| 3 Tryul 3y & 0 oIk Gagrd &) et wedb

Qﬁ%ﬂﬁﬁﬂﬂﬁ%tﬁ%ﬁ?mww%Hﬁé@maﬁmaﬁ%wﬁﬂﬁmwmmm@wﬁaﬁm

%ﬁﬁ?ﬁﬂ%&ﬁﬁ@?ﬁ%mw&miﬂﬁﬁﬁ%wﬁr%wﬁg@waamﬁvg:@ﬁg:@w%mmﬁw
Ugdl g

Sub questions

Question Number : 96 Question Id : 9277594519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR &1 fay T Aew@yul RIF 3 U g2
Options :

1. % U Siferdl & HRUT

2. ¢ U TP & HRUI

3. % 3O SEHSHAT & HRUI

4. % Ul HORAI b HRUI

Question Number : 97 Question Id : 9277594520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Je & TR 1S & URAR H AR WA fAesar &1 g1+l amfge?
Options :

1. ¥ GYUT HSIEHH B UTa Bl

2. % HHA-AMd & Ufd HIR g

3. % YUY HEHH B Y]




4. % Y 3R TgId B HH! IGT

Question Number : 98 Question Id : 9277594521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fad & & H G4 3R @ T G H1 3IHT BT 81 [had! Tt Uga g2
Options :

1. % i

2. % 0

3. % AT

4.« HAdl

Question Number : 99 Question Id : 9277594522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T | -9 3HT BT JHFT g el 2
Options :

1. % 3fdary

2. ¥ JEHR

3. % IgYfd

4, % Ugd™

Question Number : 100 Question Id : 9277594523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y N C

Y 3wSE BT Hls JUgad -

Options :

1. ¢ YR Gepid

2. % HHEAdl I UgdH

3. % YRAard!

4. % A UH




Question Id : 9277594518 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

I U T MR & 91 5 Uy U TR § 1 39 I ) Yd e U 3R IR faded! H ¥ Udd U &1 Harad SR I |

YRATT THTd BT 3O 3 fIRIWT §] Tigh THfd & HROT HURD &1 fay T Hew@yul RIF T 7] 3w Hisf $iR siferdl & gid gu ot

YRR Tdh gk ¥ g8 U 9§ IS U & fafaud & Uehd URd &1 a1 1 Uga o) 31 9eyul fay 7 0 3iR Tard &1 ot Wed

g1 §| AFa-AMd & Ufd HoR gidl off X8 &) TG 4T ST al TS aYd Herdd DI A1Td BT ITa- BT gAR] Wi g aey)

%@ﬁ?ﬁﬂ%ﬁﬁﬁﬁ%mw&m%ﬂaﬁﬁﬁw@r%wﬁwm&rﬁmeﬁv@@ﬁgﬂwaﬁmmﬁw
Ugdl g

Sub questions

Question Number : 96 Question Id : 9277594519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR & 3y o Hexagul ®H i U1 22
Options :

1. % 3O Siferal o BRI

2. ¢ U TEPId & BRI

3. % 3O SIEAT & HRU]

4. % 3O HSRAT b BRI

Question Number : 97 Question Id : 9277594520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3w e & TR TS & R H gHART WA fAdar &1 g1+t aifge?
Options :

1. ¥ GYYT HSIEHH BT UTa Bl

2. % GMJ-AFd & Yid HSR gl

3. % TYUYT HCHADHH P Y]

4. % UH 3R G&T1d 1 HHI &1

Question Number : 98 Question Id : 9277594521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fqd & T W G 3R G T g BT 3IHd BT 81 {hge! T=h uga g2
Options :

1. % gfad

2. % 77

3. % 3T

4.« OFEAd]

Question Number : 99 Question Id : 9277594522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
0 Q BH-IT 3THT BT JAFTT 2reg T8 72
Options :

1. % 3fqaly

2. ¢ 3EDHR

3. % JFIYfd

4, % Tgd™

Question Number : 100 Question Id : 9277594523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ITDE BT B SUGA MYP-

Options :

1. ¢ YRR G¥pid
2. % YHEddl I UgdH
3. % YR

4. % g9 UH

Disciplinel



Group Number : 6

Group Id : 927759138

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 927759157

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759187

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9277594524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol . ] 1]
?;ﬁdbc)pgf 20407
Options :

1 ® S



Question Number : 101 Question Id : 9277594524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& - i »

?:ff_.j;d(c)l,guf 27
Options :

1. ® S

B SF

3 % =4

Question Number : 102 Question Id : 9277594525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- o~ ‘ " - EE)
Wy iy 2%
Options :

1% =4



I s e

3¢ $J

4. 8 &F

Question Number : 102 Question Id : 9277594525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e i ‘ - EE]
el s u,'l:;u'f )
Options :

l' E \_'-—E_.J!_‘

). ® P

-

3.9 3

4. 8 SF

Question Number : 103 Question Id : 9277594526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J Ll AT
?:':_.L,I;L,'L;' & r‘i:._‘u;:’

Options :
]V S



Question Number : 103 Question Id : 9277594526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

b f -
¢ Oy “é— K{‘-J*;:f;:’ e

Options :
| BE

0w

Question Number : 104 Question Id : 9277594527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?I \"—I' ‘_,_-_u. .__-'..:5 -::l_&_] :I-"lﬂ-ln_hll_l'l E _F:,I:_I'l jn."_‘:.ll

=

Options :

1. ® f__""'JL-"J



4 % /.dd-'-\luli”:lm'

Question Number : 104 Question Id : 9277594527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?Ij'_: — "':I-G.E _::In.'&--l ﬁ-"l.ﬂ-li_m_l'l E _)I:_I'l j.."_;,ln

Options :
Nl

2\-_../«"__"“‘—"5"1

4 % /.dd-'-\luli”:lm'

Question Number : 105 Question Id : 9277594528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= i - = - ” ,
?ufi-i-c)k;:.«wlgf.nb;l:d.;,;u) e ‘,_,.[;UL"
Options :
1 iy :‘I_..I.I. EL:.. _"_-:Jj



Question Number : 105 Question Id : 9277594528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&= i i = - e ,
?u;?-fi-«fi-u)g:.«whf.nb;l:d.;,;u’) U ‘,_,.L-UL"
Options :
1 % :‘I_..I.I. E.L:. "L..‘Llj

) ® sl akal Al 2o

Question Number : 106 Question Id : 9277594529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 4."'{"/;; i e v T )
‘e 20U UL B F Ol
Options :



Question Number : 106 Question Id : 9277594529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 4-"|’HFJ/“ W (e f:.rf 2
‘e OV LB F O
Options :

= i B

Question Number : 107 Question Id : 9277594530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T N i SV T

Options :



Question Number : 107 Question Id : 9277594530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sl §UC AT
Options :

2‘ B '|_ué.: Al "'_.:'n..-

Question Number : 108 Question Id : 9277594531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a .’l . (1 . = ra

Options :



| % 1778
5 1798
3 % 1772
4 % 1775

Question Number : 108 Question Id : 9277594531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¢ (0 .

Options :
1. % 1778

5 « 1798
3 % 1772

4 % 1775

Question Number : 109 Question Id : 9277594532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SOl U AGE At
Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :
L 1801

» 1802
3. 1803

4 1805

Question Number : 109 Question Id : 9277594532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ol U A Al

Note: For this question, discrepancy is found in question/answer. So,this
question is 1gnored for all candidates.

Options :

| 1801

> 1802

3. 1803

4 1805

Question Number : 110 Question Id : 9277594533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

o -~
- | 11 i X
S 20y U,
Options :

| % el A

iy | § 3 )
3 i _,.‘lw_ll g |_'_,_;|.4

Question Number : 110 Question Id : 9277594533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 2

S O s,

Options :

" L
1. ® Jesi e gfl 5
) e )ﬂh
3 % _-,‘JLJ.‘_ALA:J;;J.-:

4 % U A

Question Number : 111 Question Id : 9277594534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

PLU ;:.-...-rlf*"d’,ﬂ "JEI r’“’ L»fl,M
Options :

1. % et

0. ® ASA

3 o Uss

4 % A

Question Number : 111 Question Id : 9277594534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

u

PLU .:.-..#"’Q/' "JK "’} erl,M

Options :

1. ® Al
) # ASA
3. O3

4 % A

Question Number : 112 Question Id : 9277594535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢¢. “"/,r‘ulf_.u LJL_)J'“/-U/JW i

Options :

Question Number : 112 Question Id : 9277594535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'?4. u’-f’/jul,f_.u L«'L_)J'“/-U/f i

Options :

Question Number : 113 Question Id :

9277594536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Vs 1/t L(J,*L';_ff“ /):r? i

Options :

Question Number : 113 Question Id : 9277594536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ss 1/t L(J,*L';_,ff“ /-):r? i

Options :



Question Number : 114 Question Id : 9277594537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Sl S s (S el il e
Options :

L% =0 Sl S

o
o % e R

3‘ e j:_;l ;'-IIS'-\

4 0 oee U8

Question Number : 114 Question Id : 9277594537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T S AL S s (S el ]
Options :

PSR L. T e W,
|k RSl

R A 1..'5: 5=
3‘ F .3:_;[ =_'|5_'-
4 50 U8

Question Number : 115 Question Id : 9277594538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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fe oy ror

Options :

Question Number : 115 Question Id : 9277594538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 116 Question Id : 9277594539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 116 Question Id : 9277594539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 117 Question Id : 9277594540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 117 Question Id : 9277594540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 118 Question Id : 9277594541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 118 Question Id : 9277594541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 119 Question Id : 9277594542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 119 Question Id : 9277594542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 120 Question Id : 9277594543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 120 Question Id : 9277594543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| o S €3‘—* sl

) % _‘1.'.'.'5_;,‘.; _'}‘_'1:'_;.-...

3 % ,-—} -J‘:')S

4 % e cigh



Discipline2

Group Number : 7

Group Id : 927759139

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 927759158

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759188

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9277594544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 121 Question Id : 9277594544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 122 Question Id : 9277594545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 122 Question Id : 9277594545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 123 Question Id : 9277594546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
?".—_ |'£ 'al_ll ];5—1 IS h__.—_;.q.dl

Options :
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Question Number : 123 Question Id : 9277594546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 124 Question Id : 9277594547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 124 Question Id : 9277594547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 125 Question Id : 9277594548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 125 Question Id : 9277594548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 126 Question Id : 9277594549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 126 Question Id : 9277594549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- i,
S i
Options :

| Al s aal g
) % 3l ) e s

3, % O S

Question Number : 127 Question Id : 9277594550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 127 Question Id : 9277594550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 128 Question Id : 9277594551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 128 Question Id : 9277594551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 129 Question Id : 9277594552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 129 Question Id : 9277594552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 130 Question Id : 9277594553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4 % 1940

Question Number : 130 Question Id : 9277594553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 131 Question Id : 9277594554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 131 Question Id : 9277594554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 132 Question Id : 9277594555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 132 Question Id : 9277594555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 133 Question Id : 9277594556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 133 Question Id : 9277594556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 134 Question Id : 9277594557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 134 Question Id : 9277594557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

~ - A 232
W Ae, Ut ey Q6 3 S S T
Options :

AT et Y
1 @ '],}l ,Ia..rlus.ﬂj.lilll_}}i

Question Number : 135 Question Id : 9277594558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 135 Question Id : 9277594558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 136 Question Id : 9277594559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. #% 1801
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4 % 1860

Question Number : 136 Question Id : 9277594559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 137 Question Id : 9277594560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 137 Question Id : 9277594560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 138 Question Id : 9277594561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oS e S 0l e Al e
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Question Number : 138 Question Id : 9277594561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 139 Question Id : 9277594562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 139 Question Id : 9277594562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 140 Question Id : 9277594563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘”_E.J :1__'1'_..'.'. e _)i “n.r""'_.J'." k' B0 e ._,.."_:. * pld _Ji....- < e i s u\z.jl--i
Options :

1.« 1921
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3 % 1922

4 % 1920

Question Number : 140 Question Id : 9277594563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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5 % 1925
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Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

) 1S 3 Al s 1AW
JJL—JA-I—H.‘-AJ-—IT:'- =l

Discipline3

8
927759140
0

0

No

No

0

20

No

Discipline3

927759159
1

Online
Mandatory
20

20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759189
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9277594564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 141 Question Id : 9277594564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 142 Question Id : 9277594565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. #% 1931

5 & 1922
3 % 1925

4 % 1921

Question Number : 142 Question Id : 9277594565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 143 Question Id : 9277594566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS = oS i (S5 50 il g e 50
Options :

Question Number : 143 Question Id : 9277594566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 144 Question Id : 9277594567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 144 Question Id : 9277594567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 145 Question Id : 9277594568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 145 Question Id : 9277594568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 146 Question Id : 9277594569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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S sty ek

Options :

Question Number : 146 Question Id : 9277594569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 147 Question Id : 9277594570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.

Question Number : 147 Question Id : 9277594570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 148 Question Id : 9277594571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 148 Question Id : 9277594571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 149 Question Id : 9277594572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4 % 1922

Question Number : 149 Question Id : 9277594572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 150 Question Id
Orientation : Vertical

: 9277594573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 150 Question Id
Orientation : Vertical

: 9277594573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 151 Question Id

: 9277594574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 151 Question Id : 9277594574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 152 Question Id : 9277594575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Question Number : 152 Question Id : 9277594575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :

Question Number : 153 Question Id : 9277594576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 153 Question Id : 9277594576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 154 Question Id : 9277594577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 154 Question Id : 9277594577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5 it SN 18 i i s 0
Options :

1% e

Question Number : 155 Question Id : 9277594578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 155 Question Id : 9277594578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 156 Question Id : 9277594579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o Sp e e oS lig S G
Options :
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Question Number : 156 Question Id : 9277594579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T S e Sy S G
Options :

1. #® 1850
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3 % 1860
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Question Number : 157 Question Id : 9277594580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T S il B8 5
Options :
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Question Number : 157 Question Id : 9277594580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ot LS el (1S 5 e
Options :
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Question Number : 158 Question Id : 9277594581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 158 Question Id : 9277594581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 159 Question Id : 9277594582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 159 Question Id : 9277594582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 160 Question Id : 9277594583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 160 Question Id : 9277594583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

= .
A (o 2
T
Options :

A

1. =

5w P

4o L
Discipline4
Group Number : 9
Group Id : 927759141
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 927759160

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759190

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9277594584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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o i S S 8 iy " 5

Options :

:
[ % ety e
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R4 e
3. W '\-;..-'I.E . "—I':I"...:-I;
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Question Number : 161 Question Id : 9277594584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 162 Question Id : 9277594585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

4 el e



Question Number : 162 Question Id
Orientation : Vertical

: 9277594585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

(S S s S e
Options :

1.« el e

Question Number : 163 Question Id
Orientation : Vertical

: 9277594586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. = F

Question Number : 163 Question Id
Orientation : Vertical

: 9277594586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 164 Question Id : 9277594587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 164 Question Id : 9277594587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 165 Question Id : 9277594588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tom 8 oS5 ) S
Options :

] ® F

4. &

Question Number : 165 Question Id : 9277594588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
L ® ¥

3.8 Sl

g0 &

Question Number : 166 Question Id : 9277594589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f",___- LS Sl TR TL ) I YV
Options :

1.« 1803
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3 % 1806

4 % 1802

Question Number : 166 Question Id : 9277594589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T LS Ll G (S g 1
Options :
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Question Number : 167 Question Id : 9277594590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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b 26U PGS
Options :
2. % XS
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Question Number : 167 Question Id : 9277594590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 168 Question Id : 9277594591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
s LS ol Joal IS il
Options :
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Question Number : 168 Question Id : 9277594591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 169 Question Id : 9277594592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¢ s il 1S oy S 38
Options :
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) % 5
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Question Number : 169 Question Id : 9277594592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¢ s il 1S oy S J 38
Options :
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4. ® A

Question Number : 170 Question Id : 9277594593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I mdals = pld s calalli s . )
Options :
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Question Number : 170 Question Id : 9277594593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 171 Question Id : 9277594594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
et Ao o Saln
Options :

1.« 1890

» % 1892
3 % 1895

4 % 1897

Question Number : 171 Question Id : 9277594594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tt de 2 Sl e
Options :
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4 % 1897



Question Number : 172 Question Id : 9277594595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSty S gy S

Options :
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Question Number : 172 Question Id : 9277594595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
E: 'ﬁ ald ]-;.5-':‘ = »--_I'_E.':II""'.' '-_-._'.I_ﬁ_
Options :
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Question Number : 173 Question Id : 9277594596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘.? 'u-'ﬁ _':.": — S Elllllﬂ'

Options :
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Question Number : 173 Question Id : 9277594596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e e e

Options :
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Question Number : 174 Question Id : 9277594597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 174 Question Id : 9277594597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 175 Question Id : 9277594598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e S g Aanis Foaan
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Question Number : 175 Question Id : 9277594598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 176 Question Id : 9277594599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 176 Question Id : 9277594599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 177 Question Id : 9277594600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 177 Question Id : 9277594600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 178 Question Id : 9277594601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 178 Question Id : 9277594601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 179 Question Id : 9277594602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

| xS o

5 o | S

Question Number : 179 Question Id : 9277594602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 180 Question Id : 9277594603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 180 Question Id : 9277594603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Discipline5
Group Number : 10
Group Id : 927759142

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 10

Is this Group for Examiner? : No
Discipline5

Section Id : 927759161

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 10

Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759191

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9277594604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 181 Question Id : 9277594604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 182 Question Id : 9277594605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 182 Question Id : 9277594605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 183 Question Id : 9277594606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 183 Question Id : 9277594606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 184 Question Id : 9277594607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 184 Question Id : 9277594607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 185 Question Id : 9277594608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 185 Question Id : 9277594608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 186 Question Id : 9277594609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 186 Question Id : 9277594609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 187 Question Id : 9277594610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 187 Question Id : 9277594610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 188 Question Id : 9277594611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 188 Question Id : 9277594611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jole

Options :
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5 % 1495
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4 % 1458

Question Number : 189 Question Id : 9277594612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Question Number : 189 Question Id : 9277594612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 190 Question Id : 9277594613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 190 Question Id : 9277594613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Teaching Methodology

11
927759143
0

120

No

No

0

10

No

Teaching Methodology

927759162
1

Online
Mandatory
10

10

10



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 927759192
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 9277594614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ool fRrefe o1 et Y
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3. ¢ W el Y GuRI

4. % IHd DI ANl & RIATH DHIRATS

Question Number : 191 Question Id : 9277594614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As a teacher, if you want to bring improvement in teaching, what would you do?
Options :

1. # Criticize previous teacher

2. % Punish student's for mistakes

3. % Correct my own mistakes

4. % Act against the policies of school

Question Number : 192 Question Id : 9277594615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the most important job of a teacher?
Options :

1. % Discipline in the class

2. % Checking homework



3. ¥ Making education interesting
4. # Taking exams

Question Number : 192 Question Id : 9277594615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 193 Question Id : 9277594616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 193 Question Id : 9277594616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The best method to evaluate the achievements of students is the :
Options :

1. ¥ Annual examination

2. ¥ Bi-annual examination

3. # Quarterly examination



4. ¥ Continuous evaluation

Question Number : 194 Question Id : 9277594617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a student asks an out of context question in your class, then, as a teacher, you would:
Options :

1. #® Punish him

2. # Ignore his question

3. # Tell him that the question is out-of- context

4. ¥ Tell the student that you would answer his question after the class

Question Number : 194 Question Id : 9277594617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 195 Question Id : 9277594618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is not an evalution tool?
Options :

1. # Checklist

2. # Rating scale

3. ¥ Progress card

4. ¥ Home task



Question Number : 195 Question Id : 9277594618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 196 Question Id : 9277594619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Successful inclusion needs-

Options :

1. # No involvement of parents

2. # Segregation

3. % Lack of capacity building

4. % Sensitization

Question Number : 196 Question Id : 9277594619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® TTar-fodr &1 Big it et

2. % fogreH

3. % &dl Ao BT el

4. ¢ Fadiexul



Question Number : 197 Question Id : 9277594620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a child fails what it indicates:

Options :

1. # Child has not done study

2. ¥ System has failed

3. # Child should learn anywhere else too
4. % Refer the child to a special school

Question Number : 197 Question Id : 9277594620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 198 Question Id : 9277594621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Semantics is the study of-

Options :

1. #® Sounds of a language

2. ¥ Words and their meaning

3. # How people use language to communicate

4. ® Rules of how to use language

Question Number : 198 Question Id : 9277594621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 199 Question Id : 9277594622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following methods helps a teaching aspirant to develop the ability to analyze the subject matter?
Options :

1. # Demonstrative technique

2. % Live demonstration

3. % Programmed instruction

4. ¥ Psycho-feedback

Question Number : 199 Question Id : 9277594622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YaRMIED dhlh

2. % 39 UaRH

3. ¢ U fou 7T fAdw

4. % TEI-Yfdfbar

Question Number : 200 Question Id : 9277594623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The Right of Children to Free and Compulsory Education Act was enacted in the year.
Options :
1. % 1980
2. %1990
3. % 2009
4. % 2014

Question Number : 200 Question Id : 9277594623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1980

2. %1990

3.9 2009

4. % 2014



